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Select the correct alternative of the following questions.

Ql. Let R be the set of real numbers and the mapping R — R be dined as
f(x) — 2x* then f~1(32) =

a. {4,-4} b. {1, -1} ci{2, -2} d. none of these
Q2. The mapping f: A — B invertible if fis
a. Injective b. surjective c. bijective d. none of these

Q3. LetA={a, b,c,d}and f: A - Abe defined as f(a) = d, f(b)= a, f(c) = b and f(d)=c. State which of
the following is equal to f ~1(b).

a. {a} b. {b} c. {c} d. none of these

Q4. Let Z be the set of integers and the mapping f: Z — Z be defined by, f(x) = x?2. State which of
the following is equal to f ~1(-4) ?

a. {2} b. {-2} c{2,-2} d. none of these

Q5. Let the function f: A — B have an inverse function f~1: B — A, then the nature pf function is
a. Onetoone &onto b. One to one &into ¢. Many to one &onto d. none of these

Q6. Let A={-2,-1,0,1,2 }and f: A — A be dined by f(-2)=1, f(-1) =-2, f(0) =1, f(2) = 1. Find f "1 (=1)

a. ¢ b. {1} c. {-1} d. none of these
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The function f: R — R be defined as f(x) = x?,then f~1(25)is

a. {-5,5} b.{-3, 3} c. [-2, 2} d. none of these

Let A={a, b, c} and B ={p, q, r}, then one of their inverse mapping is

a. {(g,a),(p, b), (r,c)} b.{(a,p),(b,q), (c,r)} c.{a, p, c} d. none of these

Let C be the set of all complex numbers and f: A — A be given by f(x) = 3x? + 16. Then
f-1Dis

a. (V5,—+/5) b. {/5i, —V/5i} c. (vV3,—/3) d. none of these

Let the function f:R — R, be given by (x) = 3x? — 14x + 10, then f~1(2) is

a. {3,4} b. {g , 4} c. {4, -3} d. none of these

Let fx) = 2x —sin x and g(x)= x% , then

a. gofisR b.gofismanytoone c.gofisonetomany d.none ofthese

If e/ ™) + eX = ¢, then for f(x) domain is

a. (-o0,00) b. (-00,0) c.(-o,1) d. none of these

If the function f satisfies the relation f(x+y) + f(x-y) =2f(x)f(y), V x,y € R and f(0) # 0 then f(x)
a. Even function b. odd function c. constant d. none of these

If RT > R isa polynomial function satisfying the functional equation f{f(x)}= 6x — f(x), then

f(17) is equal to

a. 17 b. -51 c. +347 d. none of these



